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Questions : 1

What number should replace the question mark?

808800800
SRALILIIIBL,
90006000600

Ans: 9
546 + 241 = 787

664 + 227 = 891
527 + 127 = 654

Questions : 2



What number should replace the question mark?

050 096
(8)
© 0%9 D

Ans: 44

(9 x5) - (6 - 4) = 43
(8x7)-(9-3)=50
(7x7) - (10 - 5) = 44

Questions : 3



What number should replace the question mark?

Ans: 22
(7+9)x4=64
(8+5)x5=65

(2 +4)x 11 =66
(4+6)x2=22

Questions : 4



What comes next?

(15634)
(63451)
(45136)
2 )

Ans: 13654

Ans: 107
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